Topic:- General Hindi

1) BT # at 9% fadi=n a8l 1 59 ufea § o1 91 S[6aR 82
1. SUET 3CADR

2. S=AHT SABR

3. HFAIHRU] 3ABR

4, TODh AADPR

Correct Answer :-

o TUD IADR

2) A G R YR HI% 91 TS AP S T8 SITH? IR} 914 IdT &Y, 99 g1 $8T 1 8
fo Tt T 3 9190 § P19 AT HETaRT &:

1. T el & 92.9g

2. 3G Bl i

3. dd D! fa-Tds &1 BRI
4, 3 DI db e

Correct Answer :-

. TP I p AgTg



4, T &2 &1 9, Saie

Correct Answer :-

. U XM BT M, S99

4) H g S ¢l fbu1 § I° 39 a1 T Y&k T
1. 7 Ryt a8 ol 7 fpan 7

2. B9 I8 B el fpa g

3. FH R PR

4. T g o1 18] b 5

Correct Answer :-

. T ug Bm el ATl

5) 3T 3P U oA I° 59 919 &1 Y5 ¥U fAar@u|
1. 39P 3 Ui B! ferr|

2. I 3 T ferd |

3. I 3! Ui Bl ford|

4. 3D 3 T ferd |

Correct Answer :-

o 3T 3FE Uy ford|

6) ‘3 UG P T XadTerd T I° 39 TR IT19 Y YT 9199 | 98 |
1. d UG- & Q7T Y&iepTerd TTT|

2. d U1 I8d ¥ SHIAY YRdd e ad Y|

3. d TAPIad U Fiifch a1 Ugd H = 38@d

4.9 ol Ug- & o QA 1ad T

Correct Answer :-

« d YT dIEd U FYT GXdhIerg oIcl U

7) <3 IUF] T 91 Vg P Fa15C|
1. 3

2. SITHA



3. Sl
4, 3{Jdl

Correct Answer :-

8) 9 Jgdd a1 DI ATYRUT 9T H FGferg:
FHA T PP qYT T & TR0 T g’

1. T8 I I DT T 3= & =01 W fobu
2. JYA W FDIA 81 & & IR0 W fbu|

3. Y W DT PR [ o =RU WY fobT|
4, I I W FH1T Al = & TR WEf b

Correct Answer :-

. I W FHI B R & TR W by

9) 9 JTYRYT 919 H! g 919 H Fefere :

e B! UGl 99 TP S B W 9P R dic e

1. I Y UGl S Ul aYTf JMH I &R dle 337 |
2. g9 ! UG 99 ISl 3R U ddh TR aIe M|

3. J9E TSl 99 TSl 3R ITH e TR aIe 33|

4. Y[9E U 94 UH ST SR IMH d TR TIe 3AT37 |

Correct Answer :-

. g DI Ugdl! o8 Ubs! 3R I db W I 13|

10) %d &1 31 3
1. 3& 1 e, URUMH, TR ST ST fow
2. 9&1 1 T, URUTH, HTell

3. 9& &1 Thd, GRUIMY, TeldR BT AT g
4. J& D1 T, URUTH, A1h

Correct Answer :-

« & D1 T, URUMH, TR T SFTeT fge



11) 3MFT U0 ¥ S a5 8
1. o=
2. fas
3. §A
4, A

Correct Answer :-

12) 3(A® 3R 3iferd &1 3ref §:
1. BT 3R TP
2. TRAP SR T
3. A SR T

4. JeIoh 3R TP

Correct Answer :-

. P IR AKID

13) 399 I B9 91 fawey Rl &1 ygigars) T} 82
1. HifGH

2. TRFOf

3, TYERT

4. gt

Correct Answer :-

14) 39 | B HTH BTG & ?
1. Nl

2. 1

3. 3l

4, 3ffHer

Correct Answer :-

o 3TN



15) STH & B BT BT VG LI 82
1. T B
2, AT

3. 9

4, U4y Pp1od

Correct Answer :-

16) e & @ o1 W1 Weg-g, TH faeiy T g 32
1. GRIfaqw

2. dIT.dig

3. 3{0: 370

4, 3qy:dchR

Correct Answer :-

. qxrfadw

17) I § $I AT TARN 82
1. Sgsiie T

2. HHURY JHY

3. 56 9HY

4, fgy awmg

Cbi;fe..c:t Ansv;rér -

- sl wH

18) a1 g1 1&g, fa=dl # Ut swIRY gfar ok werad vaferd 7, fore ord Sur 9 ot wy 8l
%ﬁﬁmﬂ?\?@ﬁwaﬂﬁwaﬂ%wqﬁmwﬁm%l e B 5 Fpar ) o= |
|

1, TeAaT

2. fawya
3, “THIHRP
4, “germup



Correct Answer :-

19) HeTS 3N Herel H1 34 8:
1. TS SR g BT Fa
2. frdfiererl 3R fes1 &1 ade

3, HYUICTHRI 3R A BT Ia-

4, HTEGIHRI 3R diad &7 ad4

Correct Answer :-

. HUCHRI 3R e BT Fa

20) HaIYUT B 3T T HE Hhd 22

1. b gl
2. Uh YhR bl Helh [
3, U UHR BT AHRID TR0

Correct Answer :-

« TP UHR B THRID YRG0

21) HEYU A GHY HH ST ST LT @1 AMeT?
1. H STl DI ST =TobR fere T =T

2. gt Tyl STl & geT ST AR

3. Rt UTa e 1 Icuc! ard St a1l

4, Hls Ho@yul 91 el ol dlgd|

Correct Answer :-

- PIE Ageayol s1d el e e
22) gdf fE F1 diehl &

1. Goraret

2. Hardt

3. B



4, 3faeft

Correct Answer :-

o gt

23) 3[WPR P ATH JadIU:

TIU™ B US ¥, T - IR 3T
R dep1 Il 718, 7@ FARImRR YR
1. TG SHADPR

2. A=A SfddR

3. TP APR

4, fAeef R

Correct Answer :-

. IffaeEifed 3EHR

24) IR G| BT JAER’ HT TAE 06 &
1. IRTET
2. A
3. faRTET
4. TRATEI

Correct Answer :-

25) <YTeft BT 9 YeTax &1 3 B
1. H 7T 3R Hft 9 B
2. B T U 3R HHt IR B T T

3. Hf} U Tef SR lt gur uer B
4. T TH U SR FHolt g fOoR & g

Correct Answer :-

« FHW TP Uef 3R H gy H T

26) ‘guoll T U™ FI Jicit 82



1. ORI

2, ISR

3. feHma uaw
4. AT

Correct Answer :-

. ALY

27) FART B @I} gl § T Hed &2
1, TG §3T T UG R U] 7T S3 I

2. forddt ot ToR IARAT
3, ST IR IARAT
4, R dTel

Correct Answer :-

« TG §3HT T UG R el 7T S5 I

28) <3 B AT AT AT B’ FTHed 82
1. SFgHT

2. 3f=iHt

3. 3fawE

4, S

Correct Answer :-

29) Gid Wg BT YA &1 Y §:
1. TR BT

2. TR BT

3. fOReT =TT |

4, TR AT

Correct Answer :-

o TR DA



30) ‘GUPSI’ PT ATHINRID [GUE B:
1, BTl &l ot
2. BRI Bl bl
3. B Bl Bl
4, 1Y B Bt

Correct Answer :-

. BBl DIl

32) SAfUBIC: "SI I aTell TAA131 b A@P T8 I DI 82
1. Jadierg
2. BIHT BTY!

3. qRaM
4. HER N

Correct Answer :-

o DIeD] BIURH!

33) g 3% g &7 3 ghm:
1. TR 3R ¢4

2. R R AT

3. TR 3R TR

4, AP 3R TSt

Correct Answer :-

. WIRTUT



34) U &1 faay 9reg 3:
1. 3

2. QRHI

3. IR

4, 3afd=

Correct Answer :-

35) HeA YN & TS &5 Ft dicll T 4 3
1. fomrd)
2. el
3. Faml
4, fAHTSt

Correct Answer :-

36) U FEd &:

1. I, B, Mo SATie RITT HTdl I YehIIRI I ok DR aTelt 314 b1 AgIU|
2. 1, BT, A1 TG VAT HIdl &1 TN IT k] DA Tt SHTYT |

3. 3fd, B9, RIeh 317G GART HTal BT UBIIRIA T e B dTeit 14T Dl AP
4. TS, I T RIT Tl DT UTIRI IT Sk D dTell ST b1 APTU|

Correct Answer :-
« a8, WMk 31 IR HIal 1 UBTRIG AT Had B dTelt YT B AP

37) AR YT HEATT 8:

1. %?@W%ﬁ%@%%ﬁ%ﬁ%ﬁmwwﬁm%ﬁﬁﬁﬁﬁ
|

2. 511 Y9 ¥ed & e R 41a &1 g8 HR- & e T8 w0 H 3id § 8k g¥d W 81 9d ] |

3. S HId Paet AL R & forw de 1 gy 3 & Rt gge w0 # 311d § 3k Gid 9w 8 9 g

4. Sl YT Haa ALY R & T f3H1a &1 g9 3 & At Tere U H 311 & 3R ¥d 9w &1 9 &




Correct Answer :-

. ;%?@W%ﬁ%%ﬁ@lﬁ%ﬁ%ﬁ%ﬁﬁﬁ%ﬂﬁ AT MR P T
|

38) UMl »T gl faeiv oIes §:
1. gguTa!
2. Tfcrantt

3. GgHUl
4, TRt

Correct Answer :-

40) CANCELLED
Tegd’ 379 o T 82
1. U™

2. I DHYUT

3. B BT TS Ve

4. gepdl

Correct Answer :-

. FADHTH UG

41) CANCELLED

PHIRT B TS e T RTHEA S ?



1. TR H G BT RM |

2. AT HR |

3. T M |

4. AYGR BT T BT Pigl, HHa|

Correct Answer :-

« JYGR Pl T HT Hlel, HHad|

42) Y € A agf ugan, O g ger ey
S dTR BT AYod 9T 134 :

1. S g1 & 981 ugn, 99 g} deT sl

2. ¥ 98T uga 3R qRd Hel §o7|

3. 7 g ugen, 39 & der 5ol
4. <01 g1 H 981 ygan Her o |

Correct Answer :-

. H 98 ugdr iR ged HeT ool

43) Y5 dT1H d14:

3T I JH:Joudl § T8l 66X TP d|
1. §H 3T 1 THAT & T8 38% g

2, 3T 37 THT & Tel e T |

3. 31T Jh] GAAT H -6l 38 Jabdl |

4, 3T ITp! THATH LT 38% I |
Correct Answer:-

- 310 I8! o T 3% bl |

44) Frafafea TR T ot S sare?
‘Joint Secretary’

1. Yo g

2. R Ags

3. IS0 U
4, 3fafed s



Correct Answer :-

45) frafafaa miuiiie we ot G aarsi:
‘Commissioner’

1. TG

2. el

3. 9gad

4. g

Correct Answer :-

46) frafeRad aiR Ui 2rsg $ iUl Farsi?
1. DISCUSSION

2. TREATY

3. TRAETY

4. TRITY

Correct Answer :-
¢ TREATY

47) ®X W TE ST J@ Aed|
UY U UTe Sl g ev iy 3y W Wad 11

SWRIS Uil § I A1 32
1. dicq ey ¥

2. QA

3. 4R 3™

4. PRI

Correct Answer :-

o dlcdcURY



48) @l g famfy wma 59 &, IRa &% w39
SR UfRial § SI9 A1 52

1. A"

2. HHURY

3.8y
4.3 39

Correct Answer :-
o A
49) YETaRT FaTai:
«3ffeP WM 9Ta B 9gd HH DT A1
1. $c b g A geet
2.%¢ & g T SIRT
3. g1 g o yfa
4, gl & dg T ORI
Correct Answer :-
. SCHYg SN
50) « WS URA % Sia" &I T § YR 31 & ST, fafaear ok AR e g r
T BT T4 FelTd:
1. AP DI’
2. “HgTHTH
3. “UeY PHI
4, TS P’

Correct Answer :-

51) HEIGd! THI & HYIIR:

" pfd faRw it yraeeh &1 fEor g1
1, SO

2. Faer



3. HeMP
4, “Higar

Correct Answer :-

52) Bc P A9 IaT3(:
ISP TP TRUTH 24 AT Blelt § TR 7 WR afd gl &:
1. SO

2. Rt
3. el
4, TifdeT

Correct Answer :-

53) TG BT -TH TdT3N:

I T SR SeeATell & TNT A T 31 SHD 4 AN A 24:24 ATATS 4T SHforH S =R0N 4 28:28
3T 26:26 AFETE Bidl & | ST YYH IR Ufeaar e a1 sifaw ) ufeaar Scaren &1 gl &1

1. I
2. BWY

3. gRfiferet
4, TiifcrahT

Correct Answer :-

54) Bl P &l U& i &
1. LT 1T 3R TEH HIa
2. 19 gr SiR T Ul

3. HTST 3R Qeft

4, W19 U&f 3R Hal Ugf

Correct Answer :-

. HTd &l 3R Bl U



55) <31&R RIed Bl | Ub1Rid 819 areit uleT 82
1. AER

2. R

3. R1IG

4, HUTd

Correct Answer :-

56) ‘Bl I gl A YBTRId g1 drelt UlHPp1 82
1. ACiEIEIG

2. feagR
3. SIOAHR

4, ¥IOTA

Correct Answer :-

57) Uewidd & oa H SURIAIS aTdl &1 $Fas AR aTswa |
1. H g1 =NfeY

2, TR W g =T8T

3. AT 1R

4. fSqipa 81 g =fgT

Correct Answer :-

. faagpe g1 I Aty

58) PRV 3R HUf &1 3 &:
1, TN 3R &

2. BT 3R Tl

3. U 3R AT

4. BT AR B

Correct Answer :-



59) ‘Ieel TR HIdard ®I Sic’ 39 YeTa o1 A &
1. IR B R HIddTd & gIRT Sic ST

2. 3T 3IRTY T HYd B plaard R e

3. ST 3IRTY WIHR 7 HReb TS ardl Dl GIY &1

4. 3T 3RTY WHR HP IS aTd Bl a9 1

Correct Answer :-

o AT RTY WHR 7 PP YJ d1d HI GIY ST

60) S T B T ¥ TS 3R 3 feu 10 g 1 IR &:

A FT g 95 T4 ST 31 S W WR HISATSAl PT ATHAT HIAT USdl 2
5T Wt $9R & gRT < wgs Tt aReM &t A 59 gaft W g5 @ Ml e wr Eu
9¢d T 8 1 98 TR B B9 a1 A7) & MMUR W g1 fewr gam g1 Taar ot 37 swaf
YA B | IS U FH. 99 P SR AT R | Y= B, 9 T e

W : SUa TRIiRT 1 I 2w faraw|
1. ‘PRI AT
2, “HHLE AT
3. ‘B T
4. ‘PUIT A=

61) 9 T HI S T U 3R 1 f3T 70y &1 I« ¢

U™ $1 oita- 9gd JaIad a1 81 39 LW R HISAsal ST AT ST usar gl R SR &
BRI Sl I ¥4 ave @1 AR 39 7edt v g3 8 9 el 1 U € 9qa T 81 9% WuR &
P A AT F STUR W g T g 71 Iaar it 979 =i #va &1 99w o FH.9a & FRUT
Y 21 U B, IS BT Siia |

Y : S TR & SR, TS HT Sfia-T ST gidT 82



1. T BT Sl oy Ifgd a1 g |
2. Fi™ & il §gd FRaR gaT 8|
3. U™ & ofia- 9gd Ja9qg gl g
4, TS 1 Sia 9gd Ye¥Hg eI g

Correct Answer :-

. HIW & Sfiad 5gd Gu¥Ha glar 21

62) Y T DI O 9 TS 3R -1 3T 7T U= $1 IR <

TSI &1 Sl 984 YT 81T 8 1 39 T WR HISAsa) 1 AT d1 usar el e Wi SR &
ERT S A9 w41 ReM $i A 39 it R g8 & v Rt o1 Tu 8t 9ga a1 21 98 IR HH
F 9T Ul &b YR TR & T g 81 aar W 374 $wf #va €1 9w oA o ad & BRun
Y T U=T B, TS HT Sia- |

T : S TR & SR, W § i G A 82
1. Sgsiife I

2. HHYRY AN

3. fa vam

4. AU JH™

Correct Answer :-

. 3T THRT

63) 9 T B! ST 9§ TS 3R 1Y fau 7T Y= $1 IR <:

T $1 Sita- 9gd I a1 81 39 WL R HISAsal ST AT AT usar gl R SR &
BRI S A7 w4 sRe @t A 39 7t wR g5 8 9 Rt &1 U € 9ga T 21 98 SR B
PR a1 Al & SR R g1 T g 71 Aaar it 979 Sw=if ovd &1 9w oA FH.9d & FRUI
Y 71 YA B, I FT Sia|

T — 59 TR & SR, Gadl [Had $31 Hd 87
1. I, GadT 9 $%1 I & |

2. T A9 Y s R €

3. 2qaT U 3 S R B

4. 3qd1 &Ma U S® A 5 |



Correct Answer :-

. 3T AT 4 S A 6 |

64) 9 T P &9 9 U 3T 1 fau ¢y 13wk &

A P1 Sfita- 9gd TIIHd a1 81 3 W0 WR Hi$Asal ST AT ST usar gl R i $sR &
BRT S U0 w41 sRegE @1 e 39 7l R g3 @ v eReAt &1 =0 g 9ed T g1 I8 WAR Y
P I8 AT F SMTUR W g) et g 21 Taar it 3979 =i Fva &1 99w o[ HH.9d & PRI
I 71 YT B, WIS T ia |

T 39 TR F IR, A 7l T 37
1. TS 30 4.5 & BRI IF B

2. A 30 Y&l 9 &b PR IF ¢ |

3. A 30 B1Y: IR & BRI AT B

4, TS 30 §f& & HRU I B

Correct Answer :-

. T 307 SH-9d S HRUIF B

65) T UL B! ST 9 U 3R 12 faT 718 y== #1 3« <

T BT § IS TIPR
AT H S8 TS |
HA BT § dal TTHY
e ARI IR s foarss|
T BT ¢ IIET B
WH TG W I TS |
T BT § UTdT TP
# oft eroeit D eS|
T HaT g faadl a9ax
R ISATAG |

T BT § PIAA TR
WM e g |



TY: GR:gX W DI T 3[APR 8?2
1. 3Ifad SeADBR

2. TP AABR

3. I AR

4, Yo adHd|R 3ADPR’

Correct Answer :-

« TTORYUBR SRR’

66) I UL B! W U 3R 1 fT 71T U= T IR <:

T BT § GRS TP
AT § GIS TS5 |
HT BT ¢ daT TTPY
9 R | 3Fs fe@rs |
T BT § 919l §TH
WH 99 W 4 TS |
T BT § UTIT IIPHR
# oft oroeit 05 eS|
T Bl ¢ foad! a9dx
RGN Sl 1 |

T BT § PIAA TTDY
WM aret s |

UY ST ST STBR FT BIAT ATedT 82

1. ST = 9B TR H Jd W 4G STHH1 A8 5

2. 9] ST6T §hR TR B Jd W gIY STHMT I18dT &

3, 9] ST §9hR TR B Jd W Y 91 I8 2

4, ST =T FIBR NG STHT diedl %I

Correct Answer :-

. 9] 9191 SR TR H T TR ¢ ST I8 dT 2|



67) 39 U &I W A Ug 3 - fqT M U F1 3w <:

T PRl 8 YRS TP
T | e TS |
H9 Rl ¢ da1 TP
9 IRI IR 3% S fG@Ts |
T BT § STdT §TH
W H T W i TS |
T BT ¢ UTUT IIHR

# oft oroei fm TS|

A T 8 foerell SR
SR ST W1 |

T BT & PIId TP

e HIS 9 gars |

UY: =T T §Ih 35T AT8dl 82

1. T BT SlgTel SR g-aR 381 Aedl 8|
2. T QT THR GG 31 A8l g
3. S Y&l R gR-gR Fel d1ed gl

4, g fodell S GR-gX IS I8l 5|

Correct Answer :-

. S fee SR GR-a2 IS IRl 5 |

68) 3 UE P & A U ¥ 2 fau ¢ U= &1 I« &

T BT 8 YRS TAPR
RTA ¥ SIS TS |

{1 Bl ¢ Ul aIhY
9 R R 3FHS @S|
T BT § AT TAB
WU 99 R 49 S0 |
A PRAT S U TR



# ot ot 05 TS|
T Bl § foad! a9 o
FLE-UCETIE )

A HA1 ¢ DI TP
WS a1

WY: ST &1 I 991 a18aT 52

1. 70} % a8 A R @R fe@rT agar gl

2. ! 3 98 U1 R 31 g fea T arean g

3. 7} % 95 ORI Y 3O IR feamT argan B
4. F1 fh 98 ARI W 31 S fe@™T agdT g

Correct Answer :-

. T P I8 IR R ips fe@mTagar gl

69) 3T U B! &M A U 3NT 1< few 718 y=7 &1 3wk

T BT 8 YRS TIP
IR H e TS |
HT Rl ¢ Ia1 TTHY
9 ARl IR 3Fs s |
T BT § F16T §ThY
W H 98 W 1 TS5 |
T BT § UTdT S ThR
¥ ot 3ot E Terd|
AT B g forell T
R ST 1 |

AT BT § BIId TP
W WS T s |

UY: BT BT IiId Mdd R 182
1. F BT AP
2, < BT AT



3, < &I AT

4, ‘Y T YA

Correct Answer :-

o T D] ST

70) ‘IAPI fezm BT AL B 1

29 9199 § TS A e BT THNT §3MT B, I X BI SITPR IUDT Jg! WS UgAI-g?
1. 3BT

2. TN

3. fagmd

4, 18T

Correct Answer :-

Topic:- General English

1) Choose the appropriate preposition for the given sentence:

She hid her disappointment ____a smile.
1. without

2. with

3.1in

4, through

Co;réf:t AnsWér - )

e with

2) Choose the appropriate preposition for the given sentence:

We recommend you to take advantage ____this offer.
1. at

2.1n

3. off

4, of



Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

Any illegal goods will be confiscated _______ the customs officials.
1. to

2. off

3. with

4. by

Correct Answer :-

4) Choose the appropriate prepositions for the given sentence:

He lied me the incident.

1. by, in
2. for, at
3. at,on

4, to, about

Correct Answer :-

s to, about

5) Choose the appropriate articles for the given sentence:

There was signboard at entrance of the boutique informing passersby about its launch,
next month.

1, a, the
2. an, an
3. an, the

4. an, a

Correct Answer :-

e 3, the



6) Choose the appropriate articles for the given sentence:

He has nerve to publish article that could cause friction among the different sections of
society.

1l.3,a
2. the, the
3.an,a

4, the, an

Correct Answer :-

¢ the, an

7) Choose the appropriate articles for the given sentence:

lack of communication skills is frustrating and can make aspiring student oversensitive.

1. An, the
2. A2
3.An,a

4, The, an

Correct Answer :-

8) Choose the appropriate articles for the given sentence:

Insteadof ___ apple,sheate _____ bowl of porridge for breakfast this morning.
1, a, the

2. an, the

3.an,a

4, the, an

Correct Answer :-

9) Choose the appropriate usage to fill in the blank:

We tried hard to get the problem solved without any help.

1. real



2. greatly
3. really

4. extremely

Correct Answer :-
o really

10) Choose the correct form of verb for the given sentence:

Phosphates __ to most farmlands in America.
1. need to adding

2. need to add

3. need to be added

4, need added

Correct Answer :-
¢ need to be added

11) Choose the correct form of verb for the given sentence:

Last week, Jenny _____ most of her holidays on the beach.
1. spent

2. spends

3. was spending

4, is spending

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:

| accepted the new task
1. carefully

2. greatly

3. methodically

4, willingly



Correct Answer :-
o willingly

13) Choose the correct form of adverb for the given sentence:

Heruled _____ for many years.
1. wisely

2. hardly

3. interestedly

4, interestingly

Correct Answer :-
e wisely

14) Choose the correct form of adjective for the given sentence:

The villain in the movie hates the hero and desires to harm him and so becomes
1. violent

2. good

3. crude

4, benevolent

Correct Answer :-
e violent

15) Choose the correct form of adjective for the given sentence:

Meghna uses her common sense; she is always
1. sensuous

2. hypersensitive

3. sensible

4, sensitive

Correct Answer :-

e sensible



16) Choose the correct form of expression to complete the sentence:

His partner died, and this added to his _______
1. difficulties

2. progress

3. dangers

4, fortune

Correct Answer :-
o difficulties

17) Choose the correct form of expression to complete the sentence:

He spoke in a distinct
1. method

2. voice

3. speech

4, sound

Correct Answer :-

e Vvoice

18) Choose the correct form of tense for the given sentence:

I shall not go swimming untilthesun____ out.
1. will have come

2. is coming

3. will come

4, comes

Correct Answer :-

19) Choose the correct form of tense for the given sentence:

He in love with her over a year ago.

1. fell



2. falls
3. has fallen

4, fallen

Correct Answer :-

o fell

20) Choose the correct form of tense for the given sentence:

I know all about that film becausel it twice.
1. have been seeing

2. have seen

3. am seeing

4. will be seeing

Correct Answer :-

¢ have seen

21) Choose the correct form of tense for the given sentence:

If the painting is good, they it in the exhibition.

1. will hang

2. will have hung

3. would hang

4. hung

Corre"c;t Aﬁswer -
» will hang

22) Choose the most suitable determiner for the given sentence:

Let'slistento _____ music on the radio.
1. afew

2. some

3. little

4, much



Correct Answer :-

23) Choose the most suitable determiner for the given sentence:

participant is expected to obey the rules of the game.
1. Any
2. All
3. Either

4. Every

Correct Answer :-

24) Choose the active voice of the sentence.

The poor are helped by her.
1. She is helped by the poor.
2. She is helping the poor.
3. She helps the poor.

4. She helped the poor.

Correct Answer :-
» She helps the poor.

25) Choose the correct form of modal auxiliary verb for the given sentence:

The car broke downandwe ___ to get a taxi.
1. have

2. had

3. are having

4, has

Correct Answer :-

e had



26) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: A suitable title for the passage:

1. Henderson Island: A Pitcairmn volcanic island

2. The problems on Henderson Island

3. The once pristine Henderson Island is now covered with waste

4, The endangered species of Henderson Island

Correct Answer :-

« The once pristine Henderson Island is now covered with waste

27) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100



miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: What is the main idea of the passage?
1. Henderson Island, though untouched by humans, has become the most polluted places on earth.

2. Henderson Island is today looking ugly with the amount of trash dumped there because of human
settlements

3. The trash on the island is harming marine life since fishes eat the colorful plastic pieces mistaking them
for food.

4. The waste is turning out to be alarmingly dangerous to the ecology.

Correct Answer :-

» Henderson Island, though untouched by humans, has become the most polluted places on earth.

28) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.



Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: The underlined phrase, “just the tip of the iceberg” in Paragraph 3 in the passage
means:

1. All of the above
2. There is more junk under the sand that meets the human eye.
3. The pollutants are fishing-related debris, like lines and nets, and single-use household items.

4. The sandy beaches have a lot more of biological diversity and untouched ecology today.

Correct Answer :-

e There is more junk under the sand that meets the human eye.

29) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”



The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: Which of the following statements is FALSE according to the passage?
1. According to the researchers, over 68% of the junk is found on the sand.

2. The trash found up to 10 centimeters below the sand, may be underestimating the full extent of the
pollution.

3. The tiny island is home to over 38 million pieces of waste.

4. The island is harmful to the wildlife living there.

Correct Answer :-

» According to the researchers, over 68% of the junk is found on the sand.

30) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this



case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: According to the passage, what could be the main cause of the island’s dangerous
state?

1. Scientists
2. The ocean currents that deposit garbage bobbing through the sea to Henderson
3. The island’s geographical position as it lies closest to human settlement

4, Residents

Correct Answer :-
» The ocean currents that deposit garbage bobbing through the sea to Henderson

Topic:- General Knowledge

1) 1f 3'9 of the month is Friday what day will be on the 4" day after the
215t of the month?/ I TER FTHARTI A IFaIR A ST TR T 21 TG F IC P
N R 1 1 f3= g

1. Wednesday/ gYdIR
2. Tuesday/ HTIAR
3. Saturday/ AR
4, Monday/ 9HdR

Correct Answer :-

. Saturday/ AR

2) sudesh ranks seventh from the top and 28" from the bottom. How many
students are there in the class?/ o= $T1 MY T Araai R § 9y 9 I 2891 R B
F&TH BT B! GBI fha-t 82



1. 35
2.28
3.21

4.34

Correct Answer :-

3) In the following question, select the related letter/word/number from the

%ggn alternatives:/ fAfafad yw A few e fawreal # @ TwafRa sier/=res/wan &1
|

24 : 60:: 120:?
1.108
2.220
3.160

4, 300

Correct Answer :-

- 300

4) In the given diagram, Circle represents strong men, Square represents
short men and Triangle represents military officers. Which region represents
military officers who are short but not strong?/ QU 7T aR@ #, WWW
®lgxfarg, aﬁ@ﬁ%Wﬁm%aﬁ?ﬁuﬁrﬁwmﬁaﬁm%l DI T & 3
=g ARIFIA DI S=Tar 8 ol Bl § A arddaR g1 82

P |

1.4

2.2
3.3

4.1

Correct Answer :-



5) DIRECTIONS: Solve the alphanumeric series given below:/ fAca: :ﬂ%ﬁﬂi
SERTBIT Yo P g Br:

A4, D8, H16, M32, ?
1. P64
2. 564
3. 064

4, R64

Correct Answer :-

6) Select the related word from the given alternatives:/ feu ¢ faweul # | fauyq

Wfﬁﬂﬁm

POINT : LINE::/ f3g : ¥am:

1. Triangle: Square / AYS : T

2. Centre : Circumference /% - TS
3. Word : Newspaper / Req : HER-UF
4, Line : Circle /341 : g1

Corrécf Answér - .

« Word : Newspaper / Rleq : JHCR-UA

7) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation:/ * gl ¥ sgaq & forw ok fow T aiievu Y
Hqferd - & fore frda ddal &1 a8l "Saieq gH:

555 %3 %10
.+ -Xx=
2.+ + =X
3.+ + X =

4. X + =X

Correct Answer :-



8) Which figure represents the exact relationship with the variables given in

questions?/ BT THTA Uy § 3T T sraual & a1y FHfda Tau +) g=iidt 82

Animal, Dog, Cat/ U¥], P, ICRY]
1.D

2.B

3.C

4, A

Correct Answer :-

« A

9) Which one will replace the question mark (?)?/ ﬁﬂﬁﬁﬁﬂmﬁlr_ﬁ:(?) G|
wfereTita Hem?

23 191 ?

7 /\ 24 vu/\ 99 11/\@1)
1.61

2.75

3.93

4. 44

Correct Answer :-

10) During which of the following festivals is the Baredi folk-dance performed?/ fFrafafea
T § 5T Ia & SR Tt did T forar sirar 82

1. Diwali/fearet




2. Holi/ geit
3. Janmashtami/GFl-TFQTﬂ
4. Baisakhi/ STE

Correct Answer :-

« Diwali/flcarei

11) Since which year did Gandhiji enter active politics in India for the first time?/ fraada
il St A Ugell IR URA # Afoha rerifa d yawy fosar 412

1. 1917
2.1918
3. 1919

4. 1916

Correct Answer :-

« 1917

12) Sakhya Sagar, an artificial lake is situated in the — / T YR "TH® ?ﬁ'ﬂ%ﬂﬁ ﬁf
@ g?

1. Madhav National Park/ IIT‘HHT@UB@[H
2. Pench National Park/ a%[T@TIB%IFT

3. Kanha National Park/ &TgI T@‘C{ 3

4. Fossil National Park/ SitaT=H §1 I

Correct Answer :-

« Madhav National Park/ HT?JHT@U 3

13) Till the formation of the Chhattisgarh state, Madhya Pradesh was the state in
India./ SUIRRTG ST & TS P, X UG URA BT Y ATI

1. Largest/ﬂ_@@a@

2. Second Largest/ WWE@}T
3. Third Largest/ GIRRESER] EE]
4, Fourth Largest/ E?RITWEIBT

Correct Answer :-

. Largest/ 9o §3T



14) The Fair of Mahamrityunjay in Rewa is held — / 31T ¥ UgTHcsIa UaT Saiford faar e

1. Every 2 years/ gfd 2 a9 |
2. Every 3 years/ gfa 3a¥ o
3. Every year/ gl ay o

4. Every 5 years/ PIGEECLE:

Correct Answer :-

« Every year/ gfaas &

15) The Nobel laureate Liu Xiaobo who recently passed away belonged to —/ ﬁéﬁw
foorar ferg foratsiat o g1a €1 e 81 ut, $81 | weita 32

1. China/ ¥
2. Japan/ SIT4T_

3. Thailand/ ¥TSdS

4. North Korea/ 3R IRl

Correct Answer :-
« China/ @4

16) In which year did Baji Rao | conquer Bassein from the Portugese?/ fPoaddgmeiteE:
= et & AR i St foram e

1. 1738
2. 1741
3.1739

4. 1740

Correct Answer :-

e 1739

17) In which year did the Madhya Pradesh Government introduce the Samadhan Online? /

HAUSY T IRPR A 5T avf # I0U= Sifers 1 IR fHar?
1. 2009
2. 2006

3. 2008



4. 2007

Correct Answer :-

« 2006

18) In which year did Peshwa Baji Rao Il cede a greater portion of the Sagar district to the

British?/ {1 adf & U=raT a15i W19 fgdia = IR e &1 te 991 WRT fafe=n ot Wiy faar ur?
1. 1819
2.1818
3. 1820

4, 1821

Correct Answer :-

- 1818

19) In which district is the Ahmadpur Rock Shelter found?/ 3EHGYR 3P Xeex fhy forad
Rag?

1. Khandwa/ @gdl
2. Vidisha/ fafezm
3. Rewa/ a1

4. Raisen/ 4T

Correct Answer :-

« Vidisha/ Ialafé I

20) In which year was the Tulsi Award founded in Madhya Pradesh?/ H¥d EI%QT | ﬂ'c"Rﬁ
YRR 5 a8 | w1« far T ur?

1. 1980-81
2. 1983-84
3. 1982-83

4. 1981-82

Correct Answer :-
« 1983-84

21) Who was the father of Ashoka?/ 3/t P fUdr 17 A2



1. Chandragupta Maurya/ I A1
2. Brihadratha/ §e%d

3. Bindusara/ﬁ'-EBTR

4. Kunala/ Ul

Correct Answer :-

« Bindusara/ ﬁrcgerr{

22) Which of the following rhythm instruments is used in the Swang folk-dance?/

Frafafad ara Suszon § T - 1 1@ die-Td W ST {541 SIraT 82
1. Mridang/ H&
2. Dafli/ SHal

3, Tabla/ d&cll
4. Khol/ @

Correct Answer :-

+ Mridang/ &

23) Which of the following instruments has its strings made of horse-hair?/ frrgfefaa -k

PH- AT TA P AR NS F @A A T 82
1. Ektara/ U dR_T

2. Chinkara/ fieRT

3. Khamak/ dH®

4, Rawanhatta/ TdulgdI

Correct Answer :-

« Chinkara/ &R

24) Which of the following clans of Rajputs is the Khajuraho temple associated with?/

IeTgel & Faferfad 93 § & Bi4- 91 @oRTe! 6w & JST gen 82
1. Parmara/ TRHR

2. Chandela/ 9cd

3. Baghel/ S

4, Tomar/ AR

Correct Answer :-



« Chandela/ Icd

25) When was the Panna National Park declared a Tiger Reserve?/ UdTl ?T@TI REIRE]
eER ord wa Gifta foman @ a2

1. 1996
2. 1995
3. 1994

4, 1997

Correct Answer :-
e 1994

26) Where is the Gun Carriage Factory situated in Madhya Pradesh?/ e USRI H T IS
Pl vl R 2

1. Jabalpur/sidleiyx
2. Bhopal/ ]

3. Indore/ $GRR
4, Gwalior/ TaT[eRR

Correct Answer :-

» Jabalpur/SIdeiyR

27) Where is the Netaji Subhas Chandra Bose Airport located?/ ﬁﬁﬁﬁﬁ‘#ﬂq % 9 gars
351 ol fRIT 82

1. Mumbai/ G55
2. Delhi/ feeet

3. Bengaluru/ ST
4. Kolkata/ IcTeTdl

Correct Answer :-

« Kolkata/ BIcpTdl

28) Where was the 19t RCEP Trade Negotiating Committee Meeting held?/ 199} 3MRIAIUT
YR 91| A BT doF Hei B1 TS A2

1. Hyderabad/ %azlala
2. Bengaluru/ ST



3. Kolkata/ SId®Tdr
4, Amritsar/ STHddR

Correct Answer :-

» Hyderabad/ %EQIEIE

29) What is the capital of Spain?/ T 1 ISTYUTT T 82
1. Madrid/ Bfgs

2. Bucharest/ @%ﬁ?

3. Belgrade/ CRPE

4. Warsaw/ A&l

Correct Answer :-

. Madrid/ Af3s

30) What does the ‘I’ in MPTRIFAC stand for?/ THUIIIRIMSUHEH | 31" &7 31f 1 82
1. Industry/'sf@?j

2. Investmentlmﬁ'&

3. Income/ 9P H

4. Investor/ 3@?2?

Correct Answer :-

« Investment/ §A%CHC

31) Which Gharana did Krishn Rao Pandit’s singing belong to?/ wmfr%?rwnm
DI- I W S9Ud §?

1. Maihar Gharana/ 383 TR
2. Indore Gharana/ &R TRMT

3. Gwalior Gharana/ TTeRIR IR

4, None of these/ S:I'ET R ﬁ'&‘ :@

Correct Answer :-

« Gwalior Gharana/ TaTeraR TR

32) Whom did Akbar send to capture Mandu?/ 3[®aR A Hg UR Heall B34 & ford [ Ual
U1?



1. Mohammed Khan/ HIgWC @
2. Bairam Khan/ S8 @4
3. Kamran Mirza/Wﬁ-lTﬂT

4, Adham Khan/ 3{YH W[+

Correct Answer :-

¢ Adham Khan/ 3{YH W[

33) Over which of the following produce does the Madhya Pradesh Government have a
trade monopoly?/ FEfIf@d & A F19 I HOUS WWPR BT TP ATUNRP THIUBTR aTel
IUS 87

1. Sal Seeds/ ITA BT diol
2. Cotton/ U
3. Teak/ 9RIH

4. Wheat/ 7§

Correct Answer :-

« Sal Seeds/ ITd HT dof

34) The following question is based on a code language in which FORMATION
is written as ZSXTJOBSL and RACIAL is written as XJNBJQ. How is RATIONAL
written in this language? /fFafifaa uy &, v g U wR smenfva @ ford
FORMATION & ZSXTJOBSL dUT RACIAL %! XINBIQ forar Srar 81 39 Hiur &
RATIONAL &9 for@r mar 82

1. XJOBSLIQ
2. XJOBSILQ
3.IXOBSLIQ
4, JXOBSILQ
Correct Answer :-
« XJOBSLIQ

35) In a certain code BRIGHT is written as JSCSGF. How is JOINED written in
that code?/T% fAfd $e UNTH, BRIGHT &1 JSCSGF fiaT 91§ | JOINED 39 $e
H Ha forar sre

1. JPKEFO
2. None of these/398 q &S Tl



3. KPJCDM

4, JPKMDC

Correct Answer :-

« None of these/éﬂﬁ@ﬁ'&cqﬁ

36) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts. /e ﬁ%mwmﬁwmwaﬁvm
a1 $9 fased fo e &1 emue! foT T Hy=l B e T | Hd g dgma 9l | e
Tdid g g1 | I fareeu &) ufew fipe g Fifse & e e et & & e-an fAsed few 1w
FYAT BT THINT U F SR HIT 8, U8 Ta9Td a1 5 W &1

Statements:/ PY:

Some gates are keys./ $S 3aTl, TS 8

Some keys are locks./ TS Afadl, dmd 1

All locks are woods./ H‘l-ﬁ?l'l?f, ﬁﬁ"l%l

No wood is gate./ HIs dPHSI, SIS T8l g
Conclusions:/ﬁmﬂfz

I. No lock is gate./ ﬁ'ﬁ%?ﬂ?ﬂ, mﬁﬂﬁ%l

II. Some woods are keys./ $S ads!, Afaal g1

III. Some keys are not gate./ wmﬁﬁ, aﬁnﬁﬂ'{ﬁ%l

1. None follows/ &8 1t SERTT gl T &
2. Only I and II follow/ %ad I 3R I1 3JER0 B &

3. Only I follows/ %ad I 3IERUI BT §

4. Only II follows/ ®dd II 3{JIRUT bl %

Correct Answer :-

« Only I and II follow/ %dd I 3R II IR0 Hd &

37) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fd: ﬁ%ﬁqwmﬁgmamaﬁvm
a1 7o e fir T §1 smue faT T U= Ft W WA § YA 81 3 Tdya g 3 i



Tdid gid 81 | Y st o1 ufew fihe au #ifee i few e et & § wi9-ar1 fased feg g
HYH) BT BT TT A ST AT 2, I T 9 55 W g1

Statements: /D Y:

Some cars are wheels./ $T PR, URT |

All wheels are branches./ '\‘[‘l-ﬁﬂ'%&[, STFcRﬁ%'I

Some branches are tins./$o s1fe@r, A €1
Conclusions:/ﬁwﬁf:

I. Some cars are branches./ $9 oR, @ﬁﬂﬁ'?l

I1. Some tins are branches./Wﬁ?, STW%'I

1. Only Conclusion I folIows/WﬁWEfI &WW%

2. Either Conclusion I or II follows/ gAY 1 A1 11 WW%
3. Only Conclusion II foIIows/WﬁWﬁfII G@WW%

4, Both Conclusions I and II foIIows/ﬁﬁWEf&lﬂﬂTﬂTW%

Correct Answer :-

« Both Conclusions I and II follows/ Gl [-hY TR0 Hd &

13
4,17

Correct Answer :-

39) Which of the following fraction is the smallest?/fA fA= # B9 I 999 S %?



15 19 24 34

16'20°25 35
19

120

24
2. 25

15
3. 16
34
4,35

Correct Answer :-

40) Kathir is senior of Ganesh. Ganesh is senior than Apparu. Apparu is junior of Raju. Raju is

junior of Ganesh. Who is the most senior?/ a"'l'f\w, mﬂm@ra&g%l TI"ﬂTZT, ST '\ﬁﬂﬁ?%l ST,
I A PAT R I, AP S| FeF IR H R 2

1. Kathir/ 1R
2. Apparu/ Wl

3. Ganesh/ O
4, Raju/ 19

Correct Answer :-

. Kathir/ SR
41) CANCELLED

What type of mirror can be used to obtain the real image of an object?/ f&=it

fifs 1 arafa® ufafda s & forg IuahT g1 aren o S &

1. Convex mirror/ 3{ddd GUul

2. No mirror can produce a real image/ aﬁélﬁaﬁmwmqﬁr@a:@ww
3. Plane mirror/ gHad gyur

4. Concave mirror/ 3T U

Correct Answer :-

« Concave mirror/ 39 gyur



42) CANCELLED

Which of the following districts of Madhya Pradesh shares its borders both with the states
of Uttar Pradesh and Chhattisgarh?/ 9eave® & fAafefad fore # ¥ #19- a1 fSre SR uewr

3R BTG 1 Irsal & ATy AT AT HRT 572
1. Damoh/GHg

2. Sidhi/ gt

3. Jhabua/ S

4. Rewa/ 3iaT

Correct Answer :-

« Sidhi/ Iief
43) CANCELLED

DIRECTIONS: In the question below are given few statements followed by
few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘if: ?ﬂ%ﬁquﬁW$W3ﬁ'\’W
a1 $o fased for T &1 mue! fou T HY=) Y W =T | Hd g Tdyma gl | R
Udid gid g1 1 Y foreeu &) ufew fie ag wife & few e et & @ s-ar fAeed few 1w
FYAI BT TSI $U A IRV T 8, T8 ga9Td ad $ i gl

Statements: /D Y:

All pencils are houses./ '\Er‘l-ﬁaﬁﬁ, Wﬁ?"%'l

All houses are eraser./ H’l-ﬁ‘ER, WT@'%'I
Conclusions:/ ﬁ'ﬁ?"ﬂf:

I. All pencils are eraser./ '\‘f‘lﬂﬁﬁlﬁ, T«IS%"I

II. Some erasers are pencils./ P9 IS, iR &1
III. All erasers are pencils./ H‘lﬂ?ﬁg, iR g1

1. Only I and II follow/ad I 3R II SI¥R0 HRd §

2. None follows/®Is STERUI &l HRT §

3. Only II follows/ddl IT &R HIAT S

4. All follow/ Tt SFTaRUT &l §

Correct Answer :-

« Only I and II follow/&ad I 3R IT 3IERUI &R &



800 chocolates were distributed among the students of a class. Each student
got twice as many chocolates as the number of students in the class. The
number of students in the class was:/800 Tl®dc TP BT & faenfial & aidt 11
Tfe UA® BT B HET H B S G- Bt GRAT diwde [ g, df e § ol ot v A

1.20
2.35
3. 30

4. 25

Correct Answer :-

The simplification of

| s

wlen

46) A and B invested Rs.7,000 and Rs.10,000 respectively in a business. A left the
business with his money after 9 months and at the end of the first year they
earned a profit of Rs. 6100. What is the share of B in the profit?/ A 3T B
o<t UUR § HHT: Rs.7,000 3fi¥ Rs.10,000 3% H3d € | A, 9 HEIH TG 3T+ AR AP
IR BIS 3T 2| USA U1 & 3id § & @Y Rs.6100 2| B &7 oY & fawam &1 ghm?

1. Rs.4800
2. Rs.5600
3. Rs.2600

4. Rs.4000

Correct Answer :-



» Rs.4000

47) If the students of a class can be grouped exactly into 6 or 8 or 10, then the
minimum number of students in the class must be: /Tfc T H&T DI BT i 6 AT 8
T 10 & TG § dleT STd1 8 @Y, H&T & gad feda sm g2

1. 120
2.240
3. 60

4. 180

Correct Answer :-
« 120

48) A sum of Rs.1600 gives a simple interest of Rs.252 in 2 years and 3 months.
The rate of interest per annum is:/ Rs.1600 &1 YFRTRT U 2 94 3 S BT ATYRUT TS
Rs.252 8, TSl 1 &3 &

1. 6%

49) In what time will Rs.1000 becomes Rs.1331 at 10% per annum compounded

annually?/10% dTfY® Tshgfcs ST BT G F Rs.1000 fra=t 04 | Rs.1331 T SIR?
1.2 years/ 2 Gl
2.3years/ 3 ay
3. 5 years/ 5y

4.4 years/ 4 Iy

Correct Answer :-

« 3years/ 3 G



50) Who is known as father of ‘texonomy'?/ %rﬂmﬁmqmmmm
g2
1. Linnaeus/ a9

2. None of these/ IWRIad & ¥ HIS Aot

3. Theophrastus/ fil?ﬂfb?}[
4, Lamarck/ AT

Correct Answer :-

. Linnaeus/ fafag

51) A train with a uniform speed passes a platform, 122 meters long, in 17
seconds and a bridge, 210 meters long in 25 seconds. The speed of the train

is: /T®H A A A T §8 TP YS! 122 Hiex A9 WehH B 17 TS § a7 210 Hiex @d
Jd B TR 1 | 25 THS BT AT Al 3 1 YS! $t 1fa sarsul

1. 37.5 kmph/37.5 fdier
2. 39.6 kmph/39.6 faHI/EeT
3. 46.5 kmph/ 46.5 fosdi/Eer
4. 37.6 kmph/37.6 fHi/der

Correct Answer :-

« 39.6 kmph/39.6 fHl/EieT

52) A train is 125 m long. If the train takes 30 seconds to cross a tree by the
railway line, then the speed of the train is:/125 HIc? daTs &1 TH IS YA AT
F PR TS TF US B TR F1 | 30 AHS T A el 8 | YS! $i Ifd Farsg|

1. 12 km/hr/12 TdHI/EeT
2.15 km/hr/15 foHEReT
3. 16 km/hr/ 16 fHI/deT

4. 14 km/hr/14 THHI/der

Correct Answer :-
. 15 km/hr/15 foHI/der
53) One of the pandemic diseases is?/ 79 & q 19 I T MW (FHI) HETHRI §:

1. Filariasis/ g1t urg

2. Influenza/ SUIUSIT



3. Hepatitis/ gUcRfcd
4. Amoebic dysentery/ Ufe=I

Correct Answer :-

+ Influenza/ SHRIUSAT

54) From the given alternative choose the one who is different from other

three alternatives./ 3T ¢ fawenl # 9 39 fawed &t givg, St o= i fawedi 9 T 81
1. Smuggling/ aX®L

2. Blackmail/ qurc?letf

3. Forgery/ SITcrTSil

4. Snobbery/ Yl

Correct Answer :-

« Snobbery/ Yl

55) The gravitational force with which the sun attracts the earth?/ Gd o7
o T T B MH T Hear € 982

1. Is less than the forces with which earth attracts the sun/ 39 ¢ ¥ &H gidl & for gt
T ) et Bl &

2. Is the same as the force with which earth attracts the sun/ HEWW%W%'GF[
o gedt qf 1 Snep i Rt &

3. Is more than the forces with which earth attracts the sun/ 39 §d ¥ 3(f9& glar € o
Tt g Y b el &

4, Is constant through the year/ Iy i GHH 8T &
Correct Answer :-

. Is the same as the force with which earth attracts the sun/ I8 39 §d & JH @ Sl
T et I &1 s i Hrcll §

56) While sowing seeds, the fertilizer commonly used contains?/ Siell &1 Aud

Y AT I T SaRb SUANT AT &1l o
1. Calcium/ STy

2. Potash/ TIeT=I

3. Phosphorus/ BB RY

4. Nitrates/ :l'I%%A'C’



Correct Answer :-

« Phosphorus/ BB IRT

57) The deficiency of vitamin A causes?/ ﬁaﬁﬁqﬁﬁﬁﬁqmﬁmﬁm%’:
1. Weakness/ HHSIRT

2. Dysentery/ a¥d

3. Hair to fall/ STl &1 81

4, Right blindness/ 1 3T

Correct Answer :-

« Right blindness/ X3 3ferar

58) Alloy steel containing chromium to resist rusting is known as?/ ﬁl&[irlﬂ

SUTA H I ST 8 N S & U SRy BT P $Rl & 59 [ ATH F ST STl 5
1. Wrought iron/ Sl el

2. Stainless steel/ Wa¥ ¥id

3. Hard steel/ & dlgl

4, Cast iron/ W?ﬁa

Correct Answer :-

. Stainless steel/ &9 Td

59) The dreaded human disease, syphilis, is caused by?/ Wmmi‘m
Hfr el &1 PR 82

1. An animal parasite/ T Si=] URuilal

2. A bacterium/ T SIdIy]
3. Virus/ faumg

4. Fungus/ %dad

Correct Answer :-

« A bacterium/ T SidIy]

60) 1f the sum of the interior angles of a regular polygon be 1080°, the number

of the sides of the polygon is: /foe<lt EE‘J;FT% 3Taf¥e B0 HT AT 1080° %I a'g"ﬁﬁrﬁ
YT} DY =T 1 B |



1. 12
2.10
3.6

4.8

Correct Answer :-

61) Looking at a photograph a person said "I have no brother or sister but
that man’s father is my father’s son”. At whose photograph was the person

looking at?/ T TR $i ¢Wd g€ U TR - HgT "I HIg YIS IT 98+ 61 § UNg 39
fed & o WY U 1 8 safed P iR S@ wwT UT 2

1. His nephew/39®T Yol
2. His sons/3dhT YA
3. His father/S¥d U

4. His own,/3d &1

Correct Answer :-
« His sons/3¥&1 YA

62) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ﬁi‘;"\’r: Fafafea e o
¥ 98 U5 YA o) foU T 21eg & 31&RY T TN Hb ) a1 oIl [l o-

GENERALIZATION
1. GOAT

2. NOTE

3. LIZARD

4. RATION

Correct Answer :-

« LIZARD

63) DIRECTIONS: Study the following information and answer the questions
given: /328 7€ SR F1 AFYd® U iR % foT Ty F IR

A, B, C, D, E, F and G are sitting around a circle facing the centre, not
necessarily in this order. D is not second to the left of F but D is second to
the right of A. C is third to the right of A and C is second to the left of G. B is



not the immediate neighbour of G. Then, who is sitting to the immediate

right of C?/ A, B, C, D, E, F 3(R G T® T & TRI 3[R &5 P 3R Yg P 96 &, Tl

TR P A A IS §ID, FHEF I A QRRITEI e gD, AP ILIAGITZIC, AFIC A

%n;r:ag%eﬁ?c, G FIMTARRIZI B, G T AFvean SR =gt g1 t, ¢ F Fpean aid &
?

l.E
2.D
3.B

4.G

Correct Answer :-

64) DIRECTIONS: Arrange the following in a logical order:/ fFd=I: F=T S T&
3rfquf HH | afeud ¥

(i) Weekly/ |TqaTe®
(i) Daily/ ufafes

(iii) Monthly/ HTRT®
(iv) Fortnightly/ Uiféi®
(v) Bimonthly/ fguRi®
1. (v), (i), (i), (iii), (iv)

2. (i) (iv), (iii), (ii), (v)

3. (i), (i), (iv), (i), (v)

4. (iv), (i), (i), (iii), (v)
Correct Answer -

« (i), (i), (iv), (iii), (v)

65) The average marks obtained by 40 students of a class is 86. If the 5 highest
marks are removed, the average reduces by one mark. The average marks of

the top 5 students is:/40 faenfial &t &M & T 3id 86 €1 TS 5 FdieaH 3ip geT fad
WIT¢ ForaY 3fid 1 8i W Bl 5T €, dt 399 5 faenfdat &1 ehwa s Ja sifvm|

1. 96
2.97
3.93

4.92



Correct Answer :-

66) The average age of P, Q and R is 25 years. If the total age of P and Q
together is 39 years, then R’s age is:/ P, Q 9UTR &1 3fi¥d 3mg 25 ai g1 Afg P 3R Q
P B 3TY 39 99 ¢, a9 R B Mg J1d B3|

1. 19 years/19 ay
2.22 years/22 Gl
3.28 year/28 GL

4.36 years/36 a4

Correct Answer :-

« 36 years/36 a4

67) A boy runs 20 km in 2.5 hours. How long will he take to run 32 km at
double the previous speed?/T® e 2.5 5 A 20 {5 #l gt Tw R Gpa1 31 Al a8
ST T Y ST B <, <t 39 32 fhet B g8t aa HA | a1 90d R

1 1

1. 2E hours / 2E e
1 1

2. 42 hours/ 42 €
3. 5 hours/5 ©¢
4. 2 hours/2 e

Correct Answer :-

« 2 hours/2 d¢

68) The best conductor of heat among liquids is?/ S &1 a4 ST FdTcelh gd
A I oA E:

1. Alcohol/ Tehlgd

2. Ether/ éﬂ?

3. Mercury/ URIT

4, Water/ oIl

Correct Answer :-

e Mercury/ URI



69) The mammal that lays eggs is?/ S99 WU & 1 33 3T 8:
1. Opossum/ 3EH

2. Otter/ 3fiex

3. Kangaroo/ HR=

4. Duck-billed-platypus/ $& facE wifeus

Correct Answer :-

« Duck-billed-platypus/ $& focs wifeud

70) For the rear view, motorists use?/ §I® &1 M &1 3T & o8 Ireies H1=4 gy
FT SUINT FHRaT &

1. Convex mirror/ 3dd guu
2. Cylindrical mirror/ SUHTGR YT
3. Plane mirror/ JHdd gUul

4. Concave mirror/ 3aad gyur

Correct Answer :-

« Convex mirror/ IS UuT

71) Which of the following plant hormones controls fruit ripening?/ Fa & d

DITHI UTGU ST Hall i Yo 1 =101 3l o
1. Ethylene/ QTSI

2. Zeatin/ fSrafeq

3. Auxins/ e

4. Gibberellic acid/ fiTsRfce 3

Correct Answer :-

« Ethylene/ TUEfeH

72) Simplify:/3Rd B3

I 4 i 4
{3 \ m@l [3 1|]'5‘."}ﬁ|

1. 52

2. 58



3, 512

4, 5%

Correct Answer :-

73) Food is cooked faster in a pressure cooker because? /IS URR &I | wleg!
¥ U 11 § N2

1. Steam is hotter than the boiling water/HTg ST ¥ Wﬂﬁ%ﬁ?ﬁ%

2. In the cooker water starts boiling at a lower temperature/@® 8 Sd HH a0 TR 39
UGN

3. Heat cannot escape from the cooker/3SHT &R I d8R gl oIl Al

4. Due to high pressure the boiling point of water is raised/3= gld TR FdY-ih 'éi‘cEGﬂ?lT%

Correct Answer :-

« Due to high pressure the boiling point of water is raised/3< ¢ld IR FaUIIH EiF.TGﬂ?iT%

74) What is the source of electric energy in an artificial satellite?/ Wm?r
¥ fagad Soil &1 FI1 TG g 6

1. A dynamo/ & SIE-H!

2. A thermopile/ T YHBIRA
3. Solar cells/ IR BHIRABT

4. A mini nuclear reactor/ T BleT AMNHDG T T4

Correct Answer :-

« Solar cells/ TR BIRAPT

75) In a certain code 'HENRY' is written as “Jgpta”, how will COUNTRY be
coded?/ &t @ e # "HENRY' &1 “Igpta” for@1 SaT 8, @ COUNTRY 54 R

pfed fvar sremm?
1. Eqwpvta

2. None of these/s_rlﬁ“\}rﬁ?leﬁ

3. Eqwputa

4, Eqwvpte

Correct Answer :-



« Eqwpvta

76) ‘IC chips’ for computers are usually made of?/WﬁW'@ﬁa’Iﬁéﬂﬁ
R fPaa s gt §

1. Gold/ &l

2. Silicon/ el

3. Lead/ WS

4, Chromium;/ $Iaay

Correct Answer :-

« Silicon/ IRISEAG]

77) An amount of money is to be distributed among P, Q and R in the ratio of
2 :7:9. The total of P's and Q’s share is equal to R’s share. What is the
difference between the shares of P and Q?/U&% YARTIRT BT P,Q AMRRA2:7:9%
Ut § fauTora fPar T aR PSR Q FT A TR F R F R, AP R Q&
el @1 i 1 B |

1. Rs.5000

2. Rs.9000

3. Rs.7500
4. Data inadequate/ &Nﬂfﬁ&m

Correct Answer :-

« Data inadequate/ a{cra‘rere—ﬁao%

78) The cost price of 24 apples is the same as the selling price of 12 apples. The
percentage of gain is:/24 94l &1 %4 Y4 12 A9l & f359a Iea & RIaR &, a Y ufa=ra
IGKZd
1. 100%

152W
2. 37

'121“;’
3, 27

4, 20 %

Correct Answer :-

. 100%



79) A person has a chemical of Rs.25 per litre. In what ratio should water be
mixed with chemical so that after selling the mixture at Rs.20 per litres he
may get a profit of 25%./T® 3TGHI & U Rs.25 Ufd e arar I9a 2 | fv srqura &
U 1 TATa & A1y AT SITe arfes {81 Y Rs.20 Ui dtex 994 R 25% HTATH B2

1.9:16
2.9:14
3.14:11

4,16:7

Correct Answer :-

« 9:16

80) A man sold an article at a loss of 20%. If he had sold that article for Rs.12

more he would have gained 10%. Find the cost price of that article./U& fad
TS T DI 20% BT TR ST ¢ 1 IS 98 g BT Rs. 12 AP o TR AT, A SH 10% BT ATH

glelT| I%g 1 60 o4 J1d Y|
1. Rs.22
2. Rs.40
3. Rs.60

4. Rs.30

Correct Answer :-

* Rs.40

81) The poisonous substance that is the main constituent of tobacco is?/

daTE § P STe e uerd Y UTdn STt §
1. Aspirin/ QﬂTﬂﬁ?

2. Nicotine/ IBEAIRE]

3. Morphine/ ARGH

4. Reserpine/ RRA

Correct Answer :-

« Nicotine/ Fifes



Which one of the following scientists is known as the father of genetics?/

o # & 1R P B SARIB) BT ST BT STl &
1. Gregor Mendal/ TR Hed

2. Charles Darwin/ AT STfd

3. Hargobind Khorana/ gITdg GRMT

4. T. H. Morgan/ e"rqanﬁ-—r

Correct Answer :-

« Gregor Mendal/ TR Hsd

83) One-fifth of half of a number is 20. Then 20% of that number is: /f&T
TEAT & 3ATY BT UTal [T 20 8,51 I T=T HT 20% -

1. 60
2.40
3.20
4. 80

Correct Answer :-

« 40

84) Daily in the morning the shadow of Taj Mahal falls on Red Fort and in the
evening the shadow of Red Fort falls on Taj Mahal exactly. So in which

direction is Taj Mahal to Red Fort?/ I Yag & dT%1 4gd &1 ST ATd fdhar IR UsSdl 8
3R 2TH H 1 forett o BT St a1el Hed UR USdl @ df dieiHed, ord fohar 3 fy femm # 82

1. Southern side/ Gf&mh ferm &
2. Western side/ GfgHt fg=m &
3. Northern side/ S}l fe=m &
4, Eastern side/qﬁﬁ'&“ﬂﬁ

Correct Answer :-

« Eastern side/tlﬁﬁiﬂff

85) A and B can complete a piece of work in 15 days and 10 days respectively.
They contracted to complete the work for Rs.30,000. The share of A in the
contracted money will be:/A 3R B fdl &1t & HH: 15 e qur o R A @+
TPd &1 378 Rs.30,000 B TH HTF Bl B b1 ST forar, O o TR H A A &7 fewan fovan
BRI



1. Rs.16,500
2. Rs.18,000
3. Rs.12,000

4. Rs.12,500

Correct Answer :-

« Rs.12,000

86) A and B undertook to do a piece of work for Rs.4500. A alone could do it in 8
days and B alone in 12 days. With the assistance of C they finished the work
in 4 days. Then C’s share of the money is:/ A dUT B WWE@[ Rs.4500 H H3 PT
SHTAAE I A FaT B BI 8 Fa & qU1 B 3rdhar w18 &Y 12 1 ¥ &2 a1 g1 C Y wegraan
T 3 AN 4 fet & B0 e F34 §, 9 oot AT A € BT I 31 By

1. Rs.2250

2. Rs.750
3. Rs.1500

4, Rs.375

Correct Answer :-
e Rs.750

87) A alone can complete a piece of work in 12 days. A and B together can
complete it in 8 days. How long will B alone take to complete the work?/A

3pd frl P Bl 12 eI APIAT2 I A 3R B AR SH dH B s A By APd g, df B
3Ppd 39 B B fhda- faal A svm?

1. 18 days/18ﬁ7l
2. 24 days/24 faa
3. 16 days/16 fa
4.20 days/20 f&=1

Correct Answer :-
. 24 days/24 faq

88) How many dots are there on the dice face opposite the face with one

dot?/ ¥ & U® farg a1l Ba® & faudia fosa fagail aren waw gim?



1.4
2.2
3.3
4.6

Correct Answer :-

« 6

89) How many triangles are there in the following figure?/ ﬁ?ﬁﬂ?ﬁrﬁﬁﬂﬁﬁ
o1 T@ et g2

>/

1.32

2.28
3.24
4. 20

Correct Answer :-

90) A wire when bent in the form of a square encloses an area of 484 sq. cm.
What will be the enclosed area when the same wire is bent into the form of a

circle? (Take " =7 : /U AR P od TP 11 & =7 § HIST 1T 2, ) S9P gRT RORT &3
484 7 VY 3| AR GRT o7 &=pet &1 B4, Af S R P TH I & U H HIST A2

1.230 square cm/ 230 97 JHI
2. 125 square cm/ 125 il et
3. 616 square cm/ 616 9 It

4. 550 square cm/ 550 ¥ THt

Correct Answer :-



» 616 square cm/ 616 it Tt

91) The movement of eggs from the ovaries to the uterus proceeds through

the?/ AT 3 T T SR T TH F1 3R fFas gRIGT S
1. Fallopian tube/ Tralfua Tat

2. Placenta/ T

3. Cervix/ UidT

4, Vagina/ Q=

Correct Answer :-

« Fallopian tube/ TellfUT= et

92) Ozone is important to mankind because it?/ 3iisi< A9 Y & fQ 9ga
3TITTP & T 2

1. Creates a protective coverage against ultraviolet rays/ W@WW@[W&W
HId ST §

2. Releases hydrogen in the atmosphere/ gary élséjlaﬁ ITT B &
3. Releases oxygen in the air/ AT H STRITS ST B &

4. Maintains the temperature of the earth/ Gl &1 aruHH FRHIRd #adl §

Correct Answer :-

. Creates a protective coverage against ultraviolet rays/ TRISTH! YT § §219 & forw
S S &

93) The International Rice Research Institute is based in?/ Bl?l?'fgﬁirlaﬁ
ST TR Fgl AT &2

1. Nigeria/ ATgsiar

2. Mexico/ Afege!

3. Australia/ Srferan

4, Philippines/ [ESILIES]

Correct Answer :-

« Philippines/ flrald

94) The artificial kidney operates on the principle of?/ WWW@!@HW
o Bl &



1. Osmosis/ U

2. Active transport/ iy ulkagd
3. Dialysis/ 3[aigH

4. Diffusion/ Ta¥RUI

Correct Answer :-

« Dialysis/ 3ig

95) Mahima starts at point T, walks straight to point U in north direction
which is 4 ft away. She turns left at 90° and walks to W which is 4 ft away
then turns 90° right and goes 3 ft to P. Again turns 90° right and walks 1 ft
to Q, turns left at 90° and goes to V, which is 1 ft away and once again turns
90° right and goes to R, 3 ft away. What is the distance between T and R?/

afgan, fog TASW I RIMA geTuRY PRt g IR WA fog U I i 8 =it 4 Ble R B
95900 W Pgedi 2 SR W ap Il 8 &l 4 Wie gz ¢ 1 R 900 e gedi 8 ok P a&
STt 8 o 3 Bie ¥ 8, e ¥ 900 R Q¢ St § 3R Q @& 1 Wic wirdl & fhR 900 W a1
gedi € 3R V a0 STl 8, &Y b 1 e g & 3R Y § 900 W1 g1 S R b &Il & Y 3
Ple @B T 3R R & e g3 fvait 82

1.5 ft/ 5 Bic
2.4 ft/ 4 BIC
3.7 ft/ 7 ®IC
4.8 ft/ 8 Wic

Correct Answer :-

. 8 ft/ 8 BIC

96) Boric acid is a/an?/ @WW@W%W
1. Germicide/ 3{HRAIRID Gal

2. Antibiotic/ Ufcifae

3. Strong antiseptic/ Uad IFMIRIYD

4, Mild antiseptic/ WW%

Correct Answer :-

« Mild antiseptic/ TDIR JIIEJR-I‘EJ$

97) The heaviest among the inner planets in the?/ 3idR® T8I § YT U U8 B
GT%



1. Mars/ HTd
2. Mercury/ 94

3. Venus/ Ysh
4. Earth/ gt

Correct Answer :-

« Earth/ geat

98) The gas that causes atmospheric pollution is?/ W%H@WWW
PRSP &2

1. Sulphur dioxide/ TehRSIZHHSS
2. Steam/ Y4

3. Oxygen/ SIS

4, Nitrogen/ H‘IB‘@GFT

Correct Answer :-

« Sulphur dioxide/ TeHSBH RS

99) Two numbers are in the ratio of 3:5. If 9 is subtracted from each then they
are in the ratio of 12: 23, Find smaller number. /3! TBI131 $T 34 3 : 5 8| afe gl
T A UAS § 9 TSN W1, a0 ST 3IgUTd 12 : 23 8, T D] T=T J1d Be |

1.33
2.55
3.49

4.27

Correct Answer :-

100) The chemical used for artificial ripening of green fruit is?/ forg o 3 wish
IATI & Tt ST 1 U 3 8% Wall &) e & g forar Sran 8

1. Carbon dioxide/ ®Te S5 3HdTSS

2. Ethylene/ TYISfeH
3. Ethane/ T

4. Carbide/ ®1aI%S






